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Sdlejemraet : (1) Sarsg olarrss@pd slwrs ueurd o dreTsT eramLSman
sflurisgs Camerere|b. &Ll GapulmLller, s
sesrantllureril_b o | aniguirss Ggflelssea|m.

2) Beowd deg &S®mUY owulamar LEHGCL 6rWgSH @D
Sl &CHMg(HeusH@D LweThds GCeuear(hd. LILBISET eUaFeUSN S
Quenfled LweTU(HSHe| .
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@&d! -1 /PART -1
@Oy : () eweuIsg cHaTssErsEh el wefldsaL. 20x1=20
i) Gasr@ssuul(@erer wrHm oleLseafle Wseybd eHLemL W
adevLerwd CorpLgshEEE GMuILBHLer eleLuleamarnyb Carsg
CT(LPSELD.
Note: (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. Flumenn Qessarssler <L Hflwr

(<) A6l AT DT g6 (<=),) @ovwiemed Fridlemen
(@) <L ib evilg (rF) FrpGeucdger

The author of scarcity definition is :

(a) Alfred Marshall (b) Lionel Robbins

(c) Adam Smith (d) Samuelson

2. uperll QUITHETTSTTD 6remg) :
(=) slLenerls QuUmeTTsTyD (=) uamrafwied QumrEeTTSTFD
(@) semafleppeyls Cumrmermgryd  (FF) Fhensll QUITHETTSTFLD
Traditional economy is a :

(a) Command economy (b) Monetary economy

(c) Subsistence economy (d) Market economy

3.  @emlueurs, eussl, L DT LT BISET 6TerLg)
(1) vweruriigenar AflLLIg)
(=,) Caaneuanwis 19MLLIg
(@) @eveus LML BISMET euansLILI(HSSeg
() efm@uunbismer auansLiL(hSSIelg)
Necessaries, comforts and luxuries are :
(a) Classification of utility
b) Classification of demand

(
(c) Classification of free goods and services
(

d) Classification of wants

4. meTCeurt eT&&d eTaTLg) :
(=) Coeneu = el (=1,) Caemeu > ojafliiy
(@) 5@ dlane —2 amend ellened (FF) MVn=TVn— TVn-1
Consumer surplus is :
(a) Demand =Supply (b) Demand > Supply
(c) Potential Price — Actual Price (d MVn=TVn-TVn-1
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@mig Blene Liwemr(® Lsaslwiwrgd Curg

(=1) Quorgsl vwerur® Ssflsss OsrmEsng

(<) Crsst nwerLur® Gopws QFTmEEGSHns)

(@) Gwrest LweTuT®H WS GdOHS eTenel e (HhSmg
(rF) Qurgsl Lwerur( 2§ arenal Tl (hdlmg)

When marginal utility becomes Zero :

(@)  The total utility starts increasing

(b)  The total utility starts decreasing

(c)  The total utility reaches the minimum

(

d) The total utility reaches the maximum

Coematuflen dlafllienl @6 eped STERTEMLD !
(=) Coeneu euenenGariiger o && LeTef

(<=1,) Coamau auanerGari_iger S LeTer]

(@) Coeneu auamerGam(h @)L b GlLwireug

() @Cr Gzemeu cuametCamiged BaTHE CFLaIHED
Increase in demand is shown by :

(a) The highest point on the demand curve

b) The lowest point on the demand curve

(
(c)  Shifts of the demand curve
(

d) Movement along the same demand curve

GNSGS Coameu QBSILES erdinenm cravTanTTs @Q(HHSTE
(1) X uatpd Y uarrwpd Led (B LT hiser
(=) X Larpd Y uarr_pbd Hlepmeurer Lgledlser

(@) X uearL(pbd Y LIGTL (P 2 meuHmeney

(FF) X LG (pLD Y LIGRTL (LPLD 2 L eOIMILI LIGHTL_MBI&ET
When cross elasticity of demand is negative :

(@) Xand Y goods are substitutes

(b) Xand Y goods are perfect substitutes

(c) XandY goods are not related
(

d) Xand Y goods are complementary
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8. gwhlenew Lerefludiey :
(=) elenev Hlenaowimeng
(<) Coamauub Sjaflliyd &b
(@) <uyerafluiler CoameusGarh efllig Camien el (Hibd
(rF) Cuopemdl anarsgib
At the point of equilibrium :
(a) Only one price prevails
b) Quantity demanded =Quantity supplied

(
(c) The demand curve intersects the supply curve
(

d) All the above

9. 2pusI eremg)
(1) wrHm wHiy (<) gmflap b
(@) vweruriger =fle] (FF) LweTUTL el 2 (HeUl& @S
Production refers to :

(a) Exchange value (b) Technology
(c) Destruction of utility (d) Creation of utility

10. Qeunmlsrorer Csmpled penerGeurT eremLieli :

—~

<) uOCaum 2 HLUSH sevencusaer SiomeflliLieuT

—~

<2,) GMDHS Fmedlenll GULPMIEG LI

@) yeeargame LweTU(hSg Lo

—_ o~

) QLT SThISEne MLl

>

successful entrepreneur is one who :

%)

) Decides different combinations of factors of production
)

b

Pays the lowest wage
¢)  Accepts innovations

(
(
(
(d) Avoids risks



11.

12.

13.

14.

5

gyrafl wrprg dgwe] @sammed au@Gs@ELCUTg Sl &@ELb

(1) TVC/Q (<) AC/Q (&) TC/Q

Average fixed cost is obtained by dividing :

(a) TVC/Q (b) AC/Q (© TC/Q

L cuenetCaT(H erem eP&ESHLILIHEMS).

1347 (NP)

() TFC/Q

(d)

TFC/Q

(=) parLsreod Cewas Cam (<)) GoHlwusTod gweys Cam

(@) grmefl Qeweys Cam

is called the planning curve.

() @mdbloes Qgwas Car®

(a) Long run average cost curve (b) Short run average cost curve

(c)  Average cost curve (d) Marginal cost curve

s Hlencoudled e Himeuarid Foblencvls GLmib :
(1) MR=AR (<) MR=AC (@) MC=MR
A firm can achieve equilibrium when its :

(a) MR=AR (b) MR=AC (c) MC=MR

Blenme]s Cumr_iquiler CaaneusGarh @euairm @Qme@LD

() MC=AC

(d)

(=1) SpCrradl gfpg Cadeyd (<) ClemEssTes @QMSELD

(@) Cwalrradl sfibg Qeoeid (FF) Sl Liors @)méEwh

Under perfect competition, the demand curve is :
(@) Downward sloping (b) Vertical

(c) Upward sloping (d) Horizontal

MC=AC
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15. uwewr Geumuim(® a1 Sl @ueéum@Ld.
(=) pomfleswwrert Cumiig (=1) @meur womifleno
(@) Blevmeys Gumiig () wpomfleno

Product differentiation is the salient feature of :
(a) Monopolistic competition (b)  Duopoly
(c) Perfect competition (d) Monopoly

16. Guilwe Qumrmerrsrrgdler epwwils GyFsaner :
(<) aulllgujld LIGT(pLD
(<) uewsGsTeTens HMID HHECETeTans
(@) eumwrernpb Colened euMILILD
(/) elemeouyd GeuefuiHid
The central problem of Macro Economics is :
(a) Interest and Money
b) Monetary Policy and Fiscal Policy

(
(c) Income and Employment
(

d) Price and Output

17. eumwrer Hlierwb updlu ereaflu Carlurliel eloarés Sera

vwerU(hgSlermir.

(=) epugdlerwiujd GlFawenelu|d

(=) QumsdHeowyd woHmIb WPHEH WD

(@) msTaeULD PHOL L WD

() @l BHdwrss Csamaubd L (h Gwbrss eflliyb

To explain the simple theory of income determination, Keynes used
(a) Production and Expenditure

b) Multiplier and accelerator

(
(c) Consumption and investment
(

d) Aggregate demand and aggregate supply



18.

19.

20.
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BIST6| FTTL, LOMHMILD QS @Qreanr(ha@d @enL Cuwimer
Qgr_irents eSleT&H@GHE M.

(<) eugpLomentd, GaLslliLy (<=1) Qeavey, WFe[H

(@) mIsTey, eU(HLDTELD (FF) GFewey, GCaLilliy

Consumption function explains the relationship between and

(@) Income, Savings (b) Expenditure, Investment

(c) Consumption, Income (d) Expenditure, Savings

Lenrs Clgmerangenil eoU(HNSSHIeUS)
(1) oW cumid (<) seflurt genm

(@) evww & (r) bl jrs

Monetary policy is controlled by :

(a) Central Bank (b) Private Sector

(c) Central Government (d) State Government

el Hlg Hlenew dsamsuiler eeubleumm arhm e@m N3
gHm&asmereriL(hHng.

(=) ydw e (=) seellwram(

(@) <iqtuoL @ (/) Blgluram

In zero based budget every year is considered as a :
(@) New year (b) Academic year

(c) Base year (d) Financial year

[ Hpliys / Turn over
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21.

22.

23.

24.

25.

26.

27.

U@ - 11/ PART - 11

a@g,@u’) e1(p elaT&sER&E el wellssea|b. eunmle ellerm erewr 30 -M&

SL_Lmuwng elen wefl&seab.
Answer any seven questions and question number 30 is compulsory.
Cummerrgmrd LHM 0Tl wrTasedler @Qa&EEHerDd wirg ?

State Alfred Marshall’s definition of Economics.

SNHLILIBIG(ERSSTET STTERTBIGET WTenel ?

What are the causes of wants ?

Caaneu CpSlpFsludlen euansser wrenel ?

What are the types of elasticity of demand ?

gpdle|ll LeTefl erermmed eremen ?

What is break even point ?

aleney CussSHlen @rant(h HlUBSMETHET WTenel ?

What are the two conditions for price discrimination ?

IHM Sl eTerug wrgl ?

What is transfer earnings ?

Gumedl UMD GTETHTE) GTETET ?

What is quasi-rent ?

7x2=14



28.

29.

30.

31.

32.

33.

34.

Qné Hlevew msTe| BriLssnE GSHTD SHs.

Give the formula for Marginal Propensity to Consume.

sLem Sjereyds Camliumligen smedlser wWrenel ?

What are the instruments of quantitative credit control ?

Cupmdlflum CeadlsCGueter cufl - Qassamrgdlenersd smms.

State the Definition of a tax According to Prof. Seligman.

&g - 111/ PART - III

1347 (NP)

a@g,@]u') g eNarssEps@ el welldseb. ellarm erem 40 -m&

SL_Lmwwns edlen_wWef&se|b.

7x3=21

Answer any seven questions and question number 40 is compulsory.

<L b eviigslen e @essarsansl UHOIW GmDUT(HSEMeT <, FTils.

Examine the criticisms against Adam Smith’s wealth definition.

sl QUTHeTTSTISS 6 BemenlngeneT clemsEs.

Explain the merits of a mixed economy.

2 HuGFH aumlilil elanerCar® GNLLAHeug) eremem ?

What does a production possibility curve refer ?

&loouer Ldlengls updl Slm @bl euanys.

Write a short-note on Giffen Paradox.
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35.

36.

37.

38.

39.

40.

41.

10

SBIETY STSH0 Fwbleaned eflene ereuaurn SrorafssiiLGEng ?

How is equilibrium price determined in the market period ?

Qgmfledr wpenanGeurflen LianflgeT wireneu ?

What are the functions of entrepreneur ?

wponiflenweawu sLOUURSHID allflpanser wremel ?

What are the methods of controlling monopoly ?

@mig Hlevaw 2 HLSHS Smer LSlTeys Camum’iqer GamDUTHEET Wrene ?
What are the limitations of Marginal Productivity Theory of Distribution ?

Sandlen euwrer Hliewrwd upduw erafllu Carliurliger r(CaTaTEmen
lerd@s.

What are the assumptions of Keynesian theory of Simple Income Determination ?

ueTLomrHm (pepulled 2 6rem LGrFsamanaaner allersEs.

Explain the difficulties of barter system.

L@3l - IV /PART - IV

SemeEHG NaTESHERSGD allenL_wiat&se,LD. 7x5=35

Answer all the questions.

(=) swgiwsder U@ smerwd, ger FHAplyseaile ereneuCuaiid

BIedlenemi{Ld 6Sl6ma:@s.
S|6V6VG

(<) GDBE QFer Lwerur®h elduilener LILD cuanrhgl eNeTsEsHD S(Hs.

(@)

(b)

Explain the features and any four merits of socialism.
OR
Describe the Law of Diminishing Marginal Utility with a diagram.
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42. (o) swCprsE aumerCarl(h yuieler erhHGasmerser wWrenel ? FCHTES
auenemGar(h euPlwing msTGaurt Fwbleneenil dlemd:@s.

360605

(<) elenavg Cgeneu GBdlpFHluder Lerafl wenmuie jereill(heuens ellfleurs
T(PSIS5.

(a) What are the assumptions of indifference curve analysis ? Explain consumer’s
equilibrium using indifference curve approach.

OR

(b)  Explain the point method of measurement of price elasticity of demand in detail.

43. (=) Cosemau eldlenws sams. Coemeu afldluiler elldlallovs@ser wWrane ?
S|V

(<=,) swhleved eflene ereueurm SiworafléEsliLBEng eTaTLens U FULGEIL 6
ellemd @ s.

(a) State the law of demand. What are the exceptions to the law of demand ?
OR

(b) Explain the determination of equilibrium price with a diagram.

44. () soete] 2 HUFGHE CETHSET TTDTER T ? 6T @)W 6DL|&6m 6T
ollemsGs.

3|6V60 G|
(<=4) e Blmeuend CnGlamerenn LeGam CFwesamer elleTdE@s.
(a) What are isoquants ? Describe their characteristics.

OR

(b)  Explain various costs incurred by a firm.

[ Hpliys / Turn over
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45.

46.

47.

(1) enFw sregdld, Hleanmeyls Cumiguild ellene WHMILD LieTL SHl6r erey
ereueurm blirenrudss L& ermer ?
S|V
(=) pomflenwts Curiiiquiley allened WHMID LIGRTLBISET 6T 6TeUeUTD)
groreflEslLGEng erarLiens alerd@s.

(a) How is price and output determined in the short-run under perfect
competition ?

OR

(b) Explain the price and output determination under monopolistic competition.

(=) MesTrCLrefen eumrs&GCHTLLITL g 6T <4 Fmiis.
S|V

(<=4,) J.B. Gaullenm =mismg alldulenar Sparmis.

(a) Examine Ricardian theory of RENT.

OR
(b) Critically examine J.B. Say’s Law of Markets.

(<=1) uewt ereil_ & Camlurl_ e eleufdsalid.

3|6V605)
(<) BlSlsCsTaransulien Crrésmiser crapelCGuienid gpdlanear edlelflss.
(a) Describe the quantity theory of money.

OR
(b) Explain any five of the objectives of fiscal policy.

-00o0-



